

B

الحل

$$a_n = a_1 + (n-1)d \quad a_8 = a_1 + 7d \Rightarrow 7d + 8 = 91 \Rightarrow d = 13 \Rightarrow 13(n-1) + 8 = 90$$

$$13n - 13 + 8 = 90 \Rightarrow 13n - 5 = 90 \Rightarrow 13n = 95 \Rightarrow n = 7.3 \Rightarrow \boxed{n = 8}$$

$$n = 7k + 7 \Rightarrow 7k + 7 \geq 100 \Rightarrow k \geq 13.85 \quad 101 = 7 + (13)7 \Rightarrow k = 13$$

$$7k + 7 \leq 999 \Rightarrow k \leq 142.85 \quad 999 = 7 + (142)7 = 995 = k$$

$$142 - 13 + 1 = \boxed{130}$$

$$a_n = a_1 + (n-1)d \quad a_{n+1} = a_1 + nd \quad a_{n+2} = a_1 + (n+1)d \Rightarrow a_{n+2} = a_1 + (n+1)d$$

$$a_{n+2} + a_{n+1} + a_n = -4n + 12 \quad 4n - 12 = [a_1 + nd] + [a_1 + (n+1)d] + [a_1 + (n+2)d]$$

$$3a_1 + nd + (n+1)d + (n+2)d = -4n + 12 \quad 3a_1 + 3nd + 3d = -4n + 12 \Rightarrow d = -1$$

$$a_n = 1 - n \quad a_{14} = 1 - 14 = -13 \quad a_1 = 1 - 1 = 0 \quad (-13) + (0) = \boxed{-13}$$

$$d + 2d = 2^x - 1 \quad d + 3d = 2^{x+1} \quad d + 4d = 2^{x+2} - 2$$

$$(d + 3d) - (d + 2d) = 2^{x+1} - (2^x - 1) \Rightarrow d + 2d = 2^{x+1} - 2^x + 1 \Rightarrow 3d = 2^x - 1 \Rightarrow d = \frac{2^x - 1}{3}$$

$$\Rightarrow 2^x = 10 \Rightarrow x = 3 \quad 2^3 = 8 \Rightarrow S = (d + 2d) + (d + 3d) + (d + 4d) = 3d + 2d + 3d = \boxed{8}$$

$$d = \frac{2^x - 1}{3} = 1$$

$$a_1 = a + 9d \quad a_{12} - a_{10} = 2 \quad 2d = 2 \Rightarrow d = 1, 2 \quad a_{10} + a_{12} = 20$$

$$(a + 9d) + (a + 11d) = 20 \quad 2a + 20d = 20 \quad a + 10d = 10, 2 \quad a + 2d = 10, 2$$

$$a = -10, 2 \quad a_{11} = a + 10d = -10, 2 + 10(1, 2) = \boxed{10, 2}$$

$$S_{\Delta} = \frac{\Delta}{Y} [Yd + \varepsilon d] \quad S_Y - I_0 = \frac{\Delta}{Y} [Y(\alpha + \Delta d) + \varepsilon d] = \frac{\Delta}{Y} [Y\alpha + 1\varepsilon d]$$

$$S_0 = \frac{1}{Y} S_Y - I_0 \quad \frac{\Delta}{Y} (Y\alpha + \varepsilon d) = \frac{1}{Y} - \frac{\Delta}{Y} (Y\alpha + 1\varepsilon d) = Y\alpha + 1\varepsilon d = Y\alpha + k\varepsilon d \Rightarrow d = Y\alpha$$

$$\frac{dY}{dI} = \frac{Y\alpha}{\alpha} = \boxed{Y}$$

$$t_n = \alpha + (n-1)d \quad t_{n-1} = \alpha + (n-2)d \quad \alpha + (n-1)d = \alpha + (n-2)d + 1d \quad d = \Delta$$

$$t_n = \alpha + (n-1)\Delta \quad t_{\Delta} = \alpha + Y_0 \quad t_{\varepsilon} = \alpha + \varepsilon_0 \quad t_{\varepsilon} - t_{\Delta} = (\alpha + \varepsilon_0) - (\alpha + Y_0)$$

$$t_v = \alpha + Y_0$$

$$\frac{t_{\varepsilon} - t_{\Delta}}{t_v} = \frac{\varepsilon_0(\alpha + Y_0)}{\alpha + Y_0} = \boxed{\varepsilon_0}$$

$$d_1 = Y(1 - Y\sqrt{Y}) \quad d_{1\varepsilon} = Y + \sqrt{Y} \quad d_n = d_1 + (n-1)d \quad d_{1\varepsilon} = d_1 + 1d$$

$$Y + \sqrt{Y} = Y - 1Y\sqrt{Y} + 1d \quad \sqrt{Y} = -1Y\sqrt{Y} + 1d \Rightarrow \boxed{d = \sqrt{Y}}$$

$$1 + (\varepsilon n - Y) + 1 = \varepsilon n - 1 \quad d_n = d_1 + (n-1)d \quad Y_Y = Y + ((\varepsilon n - 1) - 1)d = Y + (\varepsilon n - 2)d$$

$$Y_0 = (\varepsilon n - Y)d \Rightarrow d = \frac{Y_0}{\varepsilon n - Y} \Rightarrow d = \frac{q}{n} \quad n(\varepsilon n - Y) \quad Y_0 n = q(\varepsilon n - Y)$$

$$\Rightarrow Y_Y n - Y_0 n = 1n \Rightarrow Y n = 1n \Rightarrow \boxed{n = Y}$$

$$d_n + d_{n+\varepsilon} = d_Y + d_{1v} \Rightarrow d + (n-1)d + d + (n+1)d = d + Yd + d + 1d$$

$$\Rightarrow Y\alpha + (Yn + Y)d \quad Y\alpha + 1d \quad Y\alpha + (Yn + Y)d = Y\alpha + 1d \Rightarrow Yn + Y = 1n$$

$$\boxed{n = 1}$$

$$d_n = Y\alpha \frac{d_Y}{Y} \Rightarrow d_n = Y\alpha \varepsilon \quad d_{1v} = d + 1d \quad d_{1\varepsilon} = d + Yd$$

$$d_K = d + (K-1)d = 0 \Rightarrow (K-1)d = 0 \quad K-1 = 0 \Rightarrow \boxed{K = 1}$$